(2) 10AX

# % ANE S & 5 & 4
EREL , , & 5 & 5 £ 155 M
& | wiE |wEs| £F | oE |BEK
& | wie |wEn| A5 | 0 (g A5 | 0 | mE
5 EH 182 173 9 1 1 0 34 21 13 180 190 -10 214 211 3
moH* 94 95 -1 1 4 3 29 24 5 91 90 1 120 114 6
* 13 64 9 2 3 -1 12 12 0 12 65 1 84 11 7
T o 49 13 -24 2 2 13 9 4 45 76 =31 58 85 =21
B ®& 163 175 -12 3 3 31 19 12 141 185 -44 172 204 =32
B5 AT 138 162 -24 2 1 1 42 31 1 121 153 -32 163 184 =21
W o 125 153 -28 3 3 0 27 40 -13 111 129 -18 138 169 =31
WA 81 98 =17 4 1 3 18 26 -8 17 95 -18 95 121 -26
F O 261 273 -12 0 48 4 7 260 284 =24 308 325 -17
IS /NEF 63 86 -23 2 1 1 " 13 -2 61 95 -34 12 108 -36
N & 19 16 3 1 1 4 2 2 16 22 -6 20 24 -4
x 39 24 15 1 -1 19 6 13 33 24 9 52 30 22
& M 22 39 =17 1 1 0 8 20 -12 19 29 -10 27 49 =22
K 24 33 -9 3 3 0 10 1 3 17 29 -12 21 36 -9
T 2317 253 -16 4 4 0 23 24 -1 263 268 -5 286 292 -6
E 104 97 1 2 2 0 30 13 17 97 106 -9 127 119 8
=R 54 47 1 3 1 2 18 4 14 80 68 12 98 12 26
& F 1,728| 1,861 -133 40 26 14 377 312 65 1,684 1,908 -224( 2,061( 2,220 -159




